
4840 kg      =       ...................     g 88 g      =       ...................     kg

7348 kg      =       ...................     g 6199 kg      =       ...................     g

53 g      =       ...................     kg 2170 kg      =       ...................     g

46 g      =       ...................     kg 1658 kg      =       ...................     g

6655 kg      =       ...................     g 97 g      =       ...................     kg

9001 kg      =       ...................     g 8 g      =       ...................     kg

21 g      =       ...................     kg 3553 kg      =       ...................     g

34 g      =       ...................     kg 5853 kg      =       ...................     g

6820 kg      =       ...................     g 68 g      =       ...................     kg

74 g      =       ...................     kg 5980 kg      =       ...................     g

4085 kg      =       ...................     g 2016 kg      =       ...................     g

4765 kg      =       ...................     g 5216 kg      =       ...................     g

80 g      =       ...................     kg 56 g      =       ...................     kg

66 g      =       ...................     kg 835 kg      =       ...................     g

48 g      =       ...................     kg 17 g      =       ...................     kg



4840 kg   =   4840000 g 88 g   =   0,088 kg

7348 kg   =   7348000 g 6199 kg   =   6199000 g

53 g   =   0,053 kg 2170 kg   =   2170000 g

46 g   =   0,046 kg 1658 kg   =   1658000 g

6655 kg   =   6655000 g 97 g   =   0,097 kg

9001 kg   =   9001000 g 8 g   =   0,008 kg

21 g   =   0,021 kg 3553 kg   =   3553000 g

34 g   =   0,034 kg 5853 kg   =   5853000 g

6820 kg   =   6820000 g 68 g   =   0,068 kg

74 g   =   0,074 kg 5980 kg   =   5980000 g

4085 kg   =   4085000 g 2016 kg   =   2016000 g

4765 kg   =   4765000 g 5216 kg   =   5216000 g

80 g   =   0,08 kg 56 g   =   0,056 kg

66 g   =   0,066 kg 835 kg   =   835000 g

48 g   =   0,048 kg 17 g   =   0,017 kg


